Reading

Week Beginning 11th May 2020

Makes 1 piece

Ingredients
1 slice of fruit loaf

Chocolate spread
3 banana slices

3 blueberries

Equipment
Toaster

Plate
Knife

Method

1. Lightly toast the slice of fruit loaf.

2. Once cooled slightly, spread on the
chocolate spread.

3. Carefully place the banana onto the

chocolate spread. Use 1 slice of banana for
a nose and 2 slices of banana as the ears of
the bear.

Put a dab of chocolate spread onto a
blueberry and place the blueberry in

the centre of the slice of banana that is
the bear's nose. Place the 2 remaining
blueberries between the ears and nose to
make eyes.
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1. What is a toaster? 3. What does dab mean?

a) A machine to boil eggs g) ;C;ITSfof

b) A machine to cook bread ) -° _

c) A type of fruit c) A little bit of

d) A type of knife d) None of

' 4. What does remaining mean?

2. d lightly )

a\;\/T::s °es mean a) What's left

b) sometime b) A long time

c) nhot much c) A short time

\d) none at all d) Never

-
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(Remember, the answer is in the text.)
1.

How many slices of banana does the recipe need?

How many blueberries does the recipe need?

What has to happen to the toast before you put on the chocolate spread?
What body part do the bananas make?

How do you need to place the bananas?
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2.
3.
4,
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(Remember to look for clues in the text.)

Why do you need to only lightly toast the fruit loaf?
Why do blueberries make good eyes for the bear?
Which is the most dangerous piece of equipment? Why?
Why do we only need to use three pieces of banana?
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Challenge 4 - Your ideas

What would you use the rest of the banana for after you had cut off three
slices? Why?

Do you think this looks like a bear? Why/why not?

What animal would you make out of toast and fruit? (Writing instructions for
this is you writing task next week).
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